Mﬂ+L {ﬂ (XJOAM] M Mqrcl\ 2020

(1) A random variable X has a CDF (cumulative distribution fucntion)
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(a) Verify that F'(z) is a well defined CDF. | =e H<q
= (b) Find the PDF (probability distribution funciton) for X
(c) Find P(2< X < 3)
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(2) A random variable X has a Pl zF (probability distribution function)
{k(a;é -1
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where k is a constant.

(a) Find the value k£ must have for f (z) to be a valid PDF.

- (b) Flnd the CDF (Cumuldtive distribution function) for X.
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" (¢c) Find P (X > —2)
fffff " (d) Find the expected value of X.
(e) Find the median value of X (the value m that satisfies P(X < m)=0.5
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(d) Find the expected value
( ) Find the medlan value of X (the value m that batlbfl(}b (X <m)=0.5
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